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BIOLOGY SSC-l
SECTION ~ A (Marks 12)

Time allowed: 20 Mindtes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the guestion paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. AfB/C/D. Each part carries one mark.

(i Skin is an organ because it comprises of:
' Al Cells only | B. Tissues only
C. Both Cells and Tissues . D Both Cells and Systems
(i) The unicellular organisms which resemble animals, lack both chlorophyll and cell walls are called:
A. Algae B. Fungi C. Monera D. Protozoa
{iii) Which sample will be examined to find out whether the patient is infected with the malarial parasite or not?
A Blood B. Sava . C.  Urne 'D.  Faeces
(v)  The cell theory is NOT applicable to:
A.  Bacteria B. Vius - C.  Fungi D.  Animals
(v} . Smooth form of endoplasmic reticulum is without:
. A Golgi complex - B. Ribosome " C. Nucleus D. Mitochondria
(vi} Each diploid human cell contains 46 chromosomes. i Isuch a celi undergoes mitosis, how many
chromosomes will be fourld in the daughter cells which have just passed through telophase?
A 23 | B e S c 92 D. | 184
{vii) If more ‘substrate is added in.an alreédy going chemical reaction without changing its rate, the situation is
' termed as: _ ' _ |
A R Saturation  B. Denaturation C.- Compositon  D. Inhibition
(viiy A compound which is found in-all living cells and piay a key role in energy transformations is:
A Chlorophyll 'B.  Thylakoid C.  ADP D ATP
(x)  During starch test, why is leaf boiled in ethanol? _ ’ ' '
A-  Tokititsprotoplasm . B.  Tosoftenit
| C. To extract its.chiorophyll : D To retain its starch
(x) - Villus contains véssels- for the transport of food materials. What is trah'spor%ed by lacteal?
A. - Amino acids : B. . Blood
- C Carbohydrates - D. Fats
(xi) In which of the following pianté,- there will be NO transpiration?
‘A . Plants growing in hilly regions B.  Aquatic submerged plants
c. Plants living in deserts - ] D. Aguatic plants with floating leaves
(i) Arteries have thick elastic \r'v‘a'!is because:
| A " Répid biood ﬁbw at high pressure B. Slow blood flow at low pressure .-’
C. Rapid blood flow at low pressure D. Slow bl'oodﬂow at high pressure -

For Examiner’s use only: - .
- : : Total Marks: 2

Mark§ Obtained: -

——18A 1910 (L) —


http://www.result.pk/

(1248) Jirz 220 s
—e LA ¥R e e i ungs‘.z..igpfz_wLﬂ}ﬁthfu:Q&J;gfgf_éuf:_,%,w{;;_{;,gmz,m.{_u’;ud;u» e d
e 67 6 oS SLttreian s |l W F 500 1)
- L:’m‘uuy{ ,fx‘./ci-r” wkide (i)

F K - Eak e o K o
e A Y TN s IR ) < TR ( I

bihy s gy b 8¢ e Foo
VL pUrsleki S e il LS brrSeniplL AR, ()

4 oy R e/ A g
' s:z,}fufug{@édfufc_uquag (iv)

Ay o ¥ - VR e
_%Jﬁj‘éé (D 2 ny (Z;...fjﬂ,;)i‘r_f (v)

B A by e AR
Ll s B S g L AR A B I RS it L/ 4B OU Y ()

184 _ 92 " 46 o 23
-4 LT T Sl Bl o S S S S 1 (D)

Ly

S - Hd 2 FESE GLE -
e tid q_tﬂ;uufu,w:w_égwﬂ,,s%vMuﬁ%n&g(@ompound);&u (viii}

ATP = ADP  _% Y (7 Sk il
?{_rlggl,su[uﬁdL-,»"—ruu,;ﬁ_w‘@mfz; (ix)

& did Mjed - : ENIY TR S |

Lo e ls LIRS
e LAY, f%]:’-ﬂ}fLﬂ-’u_?gﬁﬁxf_i:u:ﬂ}J_ﬁJ?uf(Villus)u’l (x)

dog - oSS & YT N LRI
'?Jﬁﬁﬁf?ﬁu’f;}:;{&fgf@-ﬁdi@h {xi}
G){Lﬂé_sfuféi —— @J_f‘&:u;ucdﬂ,‘f, el
#J{L'JUJEE_ﬁE_f;&E ) L : 4_»7@}" -
' i e G d T (i)
et Ay f‘:JLHTﬂg{KU? e : c‘:..t‘ﬂ,;ﬂgu_lfjm]j'ﬂ(,gc)? i
e big Zynlinl 15 bus i o ot /‘.,;ﬂ:;f V1O -&

Aule 12 Af s F e

—18A 1910 L} —


http://www.result.pk/

ey

Time allowed: 2:40 Hours

v

BIOLOGY SSC-i

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION — B (Marks 33)

Attempt any ELEVEN parts. The answer to eact_x part should not exceed 3 to 4 lines. (M x3=33)

(i)
{iv)
(v)

{vi)
(vif)

Define the foliowing branches of Biology:

a. Entomology b. ° Embryology c. Physioclogy

Why Ronald Ross used female Culex mosquito instead of female Anopheles mosquito in his experiments
on malaria?

Who proposed 3-kingdom classification system and what objections were raised against this system?
Name any three Endangered species of animals in Pakistan.

Which group of organisms contain cell walls arcund their eeiis? Also write the composition of cell wall in
each group.

How is the structure of :ﬁitochondria related to its functions?

Define following:

a. Facilitated diffusion b. " | Osmosis c. - Active transport

Apeptosis is considered as progremmed cell death. Pro.ve teis'by enlisting the steps of the process.
Define crossing over. How is it significant?

How can enzymes lower the Activation energy?

How does structure of ATP reveal that it is the energy c:urfency of call? .

Differentiate between Alcoholic and Iactac acid fermentatlon.

What are the reasons for the creation of Tranepiretion Pell in plants?

How aire erythrooytes different from leucocytes? |

Write sources, functions ,and'deﬁciency symptoms ef vitamin A.

SECTION ~ C (Marks 20)

Attempt any T WO questlons AII questlons carry equal marks. - @x 10 20)
 What are- Epltheilai cells'? Narne their different types and write about their structure, iocatlon_ .
and functions. _ : C g (1+5) -
Enlist the phases of Cell Cycle with labelled dlagram : ‘ ' ‘ , {3+1)
Describe the process of aerobic respiration in detail with the help of labelled diagram. -~ (5+2)
High temperature denatures the enzymes How? _ ' B (03)

The process of dlgestlon completes in small intestine. Explam various steps of this process

with labelled diagram. oo : (4+2)
‘Give a comparison of Pulmonary and Systemic circulation. : ' 7 (04)


http://www.result.pk/

53 pr »l oo /Lﬁ

: ‘ & 2:40

HO

@ » e Madk pr 2 s 47 (1)l o 2o RSl lpes el el or M (o 2
B Ly ot Sz £ LSyl S Sheet B2 ALY i)Y

oy

(11x3=33)

(2x10=20)
(1+5)
(3+1)

(2+5)
(03)

(2+4)
(04)

s fupec FLAT (M)oifeble iz e

NE Sy IsT At

gy b GAA o Gt L
st A e S Al e\ FEL L e Ll
L Bl ;!lg;(_;wuﬂ_fu?i.ff‘" 2 et

L R A s U bl bl Ao

-k UBU/{ &VJE»‘:(JJ':J:L{-,«:/Q'/J fe L}J‘Uﬁfdi:(_}:}/@:u»lﬁlguf
e FUALLSL s St E

/s Al L

RERITT R

U e

'.‘.d)._.”}f};’.-( i o

e et N S e p§ g S A gz S SR i
e S fmi kS

2 S ARG A

e EANS IS BT b es S ATP

_J__/rgl:dj-gﬂﬂ‘/}'ﬂl_@.uf‘ugﬁ .

?qfo@:’!:gJLﬁb‘gg_LJ:cﬁfl‘_/'Uﬁu»{
St A e LA
e AL Sl
2045 (rao "' -
(-UZ/.D:/."'.'_’.Q;’!_{(Q_Q{J’JI:# » a3
wqfulfo‘ﬂﬂ;,.JgLwaﬂr}: I vugg)i’d:‘y{gi
Ll g g o P LSS

-QIUQGM@JAJ{fﬂI}M fu/;{écﬁ/’g;é{f
e e ESHARIT iz ik

S s LS g et S TEA S
et 6P Bl

—18A 1910 (L) —

(M

(ii)
(iif)
(iv)
v
(vi)

(vii)

] I

et e’
3

-

e A
ry

o

— s’
v


http://www.result.pk/

i

ssansi

stesets

.

Roll No. Answer Sheet No, } $

. Sig. of Candidate. Sig. of invigiiator.

..................................................................................................................................................................

BIOLOGY SSCH
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It shouid be completed -in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i) Biometry is the application of in biology.

A, Physics B. Chemistry C. Mathematics D. Geometry
(ii) Which of the following is the correct sequence in biological method of study?

A. Observation — Hypothesis — Deduction — Experimentation — Theory — Law

B. Observation — Deduction — Hypothesis — Experimentation — Theory — Law

C. Observation — Hypothesis — Deduction — Expetimentation - Law — Theory

D. Qbservation — Hypothesis — Experin;xentation -+ Deduction — Theory — Law

(i) Which of the following was added in three kingdom classification system along with plantae and animalia?

A Monera B. Fungi C. Protista D. Virus
(iv) Phagocytosed food is digested with the help of enzymes which are present in:
A. Ribosome B. Golgi complex C. Mitochondria  D. Lysosomes
(v) For active transport to occur, the following must be present:
A. Carrier proteins, ATP, cell membrane B. Carrier proteins, ADP, celi membrane
C. ATP, cellmembrane, vacuole D, Cell membrane, water, ATP

(vi) A unicellular organism Undergoes mitosis every minute. At this rate, it can fill a 100 ml beaker in one hour
(60 minutes). How much time does it take to filla 50 mi beaker?
A - 30 minutes B. 39 minutes C. 50 minutes D. 59 minutes

(viD) Particular order in which several enzymes work together is classified as:

A Inactive pathways B. Actlive pathways
C. Metabolic pathways D. Synthetic pathways
(vii)  The prerequisites of Calvin cycle are: _
A H,0+CO,+ATP ‘ B.  ATP+H,0+NADPH,
C. CO, + ATP+ NADPH, D. ADP + NADP +CO,
(ix) Oxygen which is reléased during the process of photosynthesis comes from:
A, - Water B.  Carbon Dioxide C. Air D. Chlorophyll
(x) What happens when food reaches the stomach?
A. No digestion occurs here
B. Food moves quickly into the small intestine
C. Juices mix with food and stomach muscles squeeze it
D. Food is completely digested and absorbed
{xi) Transport of food in higher plants takes place through:
A Tracheids B. Companion cells
C. Sieve elements D. Vessels
{xit) Which chamber of heart receiveé oxygenated blood from lungs?
A Right atrium  B. Left atrium C. Right ventricle D. Left ventricle

For Examiner’s use onfy: .
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Time allowed: 2:40 Hours

BIOLOGY SSCH

LY

Total Marks Sections B and C: 53

NOTE: Answer any elevén parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

()] What are the characteristics of colonial type of cellular organization? Give an example.

SECTION — B (Marks 33)
Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 fines.

()] How was quinine discovered?.

i) Give the classification of humans.

Note:

Q.3

Q.4

(iv) Define deforestation. How does it lead to soil erosion?
{v) State how the structures of following are related to their functions:
a. Red Blood Cells b. Xylem Vessels

(vi) Write only one function of each of the following celllorganelles:

a. Mitochondria b. Smooth endoplasmic reticulum c.
{vil) What is metastasis? How is benign tumor different from malignant ‘fumo'r’?
(vii)  Differentiate between cytokinesis in animais and plants.
{i%) How can fermenting abilities of bacteria and fungi be used for the benefit of mankind?
(x) What are Co-~factors? Name and define their types.

{xi) Light reaction is the first phase of photosynthesis:

a. State the precise location of the light reaction in chicroplast
'b. What is photelysis?
c. Name the compound for which NADP is abbreviated.

{xii) Briefly describe the importance of nitrogen in plants.

- (xiii)  How is food digested in mouth?

{(xiv)  Enlist the advantages of transpiration.
(xv) Write one function of each of the following arteries:
a. Intercostal b. Renal c. " Hepatic

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks.

a. What is Mitosis? Enlist the events of its prophase with labelled diagram.
Write a note on Nucleus. Also draw its labelled diagram.

Define ATP. Explain its structure, functions and synthesis with_ labelled diagram.

b.  Why are enzymes specific to their substrates?

a. Write a detailed account of structure of human heart. Also draw its labelled diagram.

ARy e iren aceattizml far our bady?

(11 x 3 = 33)

Centriole

(2x10=20)
C (1+4+1)
(3+1)
{1+5+1)

(03)

(5+2)

(03)
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